Hausaufgaben fiir Fr. 20. Juni

. Bestimmen Sie folgende Formen und geben Sie den Stamm an:
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1. Pl. Indik. Aor. Akt. (kpiv-)

Part. Aor. Pass. Nom./Akk. Nt. P1. (&yyeA-)

2. Sg. Indik. stark. Aor. Pass. zu Med. @aivopot (pov-)
Infinitiv Fut. Med. (-)

Infinitiv Fut. Akt. (oteA-)

Part. Pras. Akt. Nom. P1. Mask. (dyyeh-)

2. Sg. Indik. Aor. Akt. (pav-)

3. PL. Indik. Aor. Pass. (ap-)

2. Sg. Konj. st. Aor. Pass. zu gaivopon (@ov-)

2. Sg. Indik. Pris. Akt. (pBgp-)

Part. Prias. Akt. Nom. Sg. Fem. (dmoktev-)

2. PL. Indik. stark. Aor. Pass. zu Med. paivopat (¢av-)
Part. Aor. Akt. Nom. Sg. Fem. (dmoktev-)

Infinitiv stark. Aor. Pass. zu Med. @aivopot (pov-)

1. Pl. Indik. Fut. Akt. (BaA-)

3. PL. Indik. st. Aor. Pass. zu Med. @aivopot (pov-)

Graecumkurs // bmaucolin



